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1.

The area of the triangle formed by
the points (1, 2, 3), (2, -1, 1) and
(-"1 1 2! = 4) is

A) .,159_3 sq. units

B) ”6200 sq. units

Cc) 5298 sq. units

D) J600 sg.units

The medians of a triangle are
A) Coplanar
B) Orthogonal

C) Concurrent

D) Nohe of these

if the vectors 2i — 3j + 4k, 2i + j=kK
and Ai —j + 2k are coplanar, then
the value of A is

A) 3
B) 4
C) 5
D) 6

1.

(1,2, 3), (2, -1, 1) 3 (-1, 2, — 4)
fergatl (wrem) @ s T B @
87 BT 2

A) Js598 sq.units

v600
2

/598
2

B) $q. units

C) 5q. units

D) /600 sq. units

B % qery (rem ) §
A) FRT (araea)

B) e (Sweivii)

C) sH&te (HerT)

D) ¥ & ¥ 7

waazézi-sj+4k,éi+j-kaﬂt
Ai=]+ 2k E, @ A e B 2

A) 3

B) 4
C) 5
D) 6
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4.

If p is any prime and a is any integer,
then

A) (p,a)=1
B) (p,a)=p
C) both (A) and (B)

D) none of these

If (210, 55} =210 x 5 + 65 kthen the
value of k is

A) —19
B) — 18
C) - 16

. D) -15

The volume of a spherical ball is

increasing at the rate of 4% cc/s.
Then the rate of increase of the
surface area when the volume is

288m ccis

A).—

B) ==

C) 6n
D) 6

Page No. 4
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4. ST p K 9 T a F1E SRS R, 7@
A) {p,a)=1
B) (p,a)=p
C) (A) a1 (B) SHT
D) ¥ & 1§ et

PR (210, 55) =210 x 5+ 55k ®,
k <t 75 BT 8

A) -19
B) — 18
€):=18

D) -15

. Trfere () et =1 Shmr (Sem)
4m cé/sizqtaz:ar'%laazsa T ce

i (SiegH) & THT TRET i Fea
SIRCA G

A) —

B) —

C) 6™

D)6
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A
7. The value of [&(f(x)+H/(x)) dx is

A) e*f'(x)+c

B) e*f(x)+c
C) e"logf(x).-s--q

D) Noneof these

2
8. Thevalue-off“oos X dx,a>0is
°x 1+a*

A) 0
B) 1
b

D)

el IF;

9. The area of the region bounded by
the curves y=x2 andy = 4x — x2 is

8 .
A) 3 54: units

64
B) %sq. units

3
C) 3 Sa- units

D) None of these

7. [€* () +1(x)) dx 1 Tea e B
A) eF(x)+c

B) e*f(x)+c

C) e¥logf(x) + ¢
D) 398 @ ¥ =

8 | cos® x dx, a > 01 e B &

Y. 1+a¥
A) O
B) 1

e

C)

D)

I

9. Thdl (FdA) y =2 AUy = 4x — x2 @

Fra gen &3 1 T B 2
A) g $q. units

764
B) 5 SG- units

3
C}) 3 S units

D) ¥4 & =I5 7
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10.

1.

12.

if the area enclosed between the
curvesy =axZand x=ay2,a>0is
1 sq. unit, then the value of ais

A 3
1
B)ﬁ

C)3
D)9

Ifx2 +y2=1then ¥" is

AS %3

'B) %a

C) y®
D) —y3

The angle between the curves
xy =2andy? = 4xis

A) —tan™'(3)

B) tan™ (}{3)

C) tan~1(1)

D) tan~1(3)

Page No. 6

10.

11.

12.

- e - PR

TR S

TR AT y = ax2 997 X = ay?, a > 0,
HladaegEnas 1sq. unit?, @ ‘a’
1 e BT ©

|-

A)

o~

B)

C) 3
D) 9

ARx2 +y2=1%, A Y TR
A) %3

B) 1y3
C) y3
D) -y3

Xy = 2991 y2 = 4x Ha (Thal) F A=
o (TeA)

A) —tan~1(3)

B) tan~t (%3)

C) tan™(1)
D) tan~(3)
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13.

14,

15.

¥ x2 y2
The curves 'K+ B =1 and

yz
—+=—=1 cut each other

.-a. b

orthogonaily if

A) A-B=a-b
B) A+B=a-b
C)A+B=a+b
D) A-B=a+b

If the subnormal at any point on the
curve y" = ax is a constant, then the
value of n is

A) 1

B) 2

C) -1

D) -2

The velocity of a particle moving
along a straight line is given by
a + bv2 = x2, where x is its'distance
from the origin. Then the
acceleration of the particle is

A T B)

xX|o

C)i=s D)

ol x

"{((Page No. 7

14.

15.

B) A+B=a-b
C)A+B=a+b

D) A-B=a+b

T () y" = ax F frelt @ g
(IE2) R TN FRE R, o n
e B @

A) 1

B) 2

0y -1

D) -2

S et @ & A e widtse @5
aERfe TR a + bv2 = x2, Wi i x
AR ¥ Reea 2, a9 wfdsa =
TRITTH BT 3 :

A) —'b— B) —
-b
c) =2 D)
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17. If y = tan-! [

Vi+x2 - f1-x2
then%is
X
A 1-x4
~X
B) 1-x4
X
©) Vi+x4
~X
D
) Vi+x#

UMD A

cosx d
HR v = tan—7 ' y
16. y =tan (1—sinx) 2, dx
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iﬂﬂﬂﬁiﬁﬂlﬁ

+2 2t
18 'f]{-—-1+t2 andy—.l t2 theng%

1=t

19. Ifx¥=e¥Xthen g_x! is

2+logx
A 4 iogx)2

2-logx
(+logx)2

B)

2+logx
C) (1+logx)2

2-logx’
D) (1-logx)?

2 2t
18. 35!"1'()(:-1i aﬂty=1_t2 %,?ﬁ

142
t=od ¥ B’Im%
A) =
B) =
: C)%
D) 15‘1

: d
19. IR XY = e¥*2, A a%ﬁ?ﬂ%

2+logx
) 1-10g%)2

2-logx
B) (1+logx)2

2+logx
) (1+logx)@

2-logx
D) (- Iogx)2
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20. [Ifx=sint, y=cosptthen (1—x2)y,—xy,

is
A) p?y
B) - p?%
C) p?
D) —p?
i - 2+3i .
21. The conjugate of 1+ 2i is
8-i é+i
A) = B) 5
8-1 8+i
C) — D) 3

22, (1+0)(1+2)(1+8)...(1+n)=x+iy
then the value 0f 2.5.10 ... {1 +n?)is

A) Jx2+y?
B) x2+y2

2nn
x2 +y2

C)
D) None of these

. -t 3
23, The real part of 5e'(n+ta" (A)) is

A) -3 B) 4

C) -4 D) 3

Page No. 10

20. P x = sint, y = cospt ®, o
(1 - X3y, —xy, Bar e

A) poy

B) - p%

C) p?

D) -p?

2+3i

21. mﬂ-ﬂﬂﬁﬁﬁz%

8-i 8+i

A =g B 5~
8-i 8+i

c) D) 5

22, IR (1 +1) (1 +20) (1+3i)...(1+ni)
=x+iy ¥ 25.10... (1 +nD) T AR

A) \Jx2+y2
B) x2+y?

2nz
x2 +y2

C)

D) il & =

23, 5ei("“""ﬂ%)) 7 Pt a2 &
A) -3 B) 4

C) -4 D) 3
) ) S5CEM




24,

25.

26.

N

1 .
1+Ccos0+ising s

The real part of

—1
A) ry

1
B)E .
C) 1
D) -1

Evaluate (J§ —i)g.

A) 512i
B) 512
C) - 512i
D) 512

The value of cos(2 cos™'x + sin~1x)

atx=y5 is
2\/6

A 5
B) 2/6
5

C) 0
D) 1

Page No. 11

25.

26.

1
1+ cos0+ising

F A o 2

-1
A) ry

1
B) 2
C) 1
D) -1

(ﬁ-i)gwmﬁaﬂ ?1

A) 512i
B) 512
C) - 512
D) -512

= A % cos(2 cos~'x + sin~x) &
T 3

C)o
D) 1

5CEM



27. Solve for x : sin~1x + sin—12x =

-1

1
A) > B) oy
C) :l:—1- D) 2
2

1 TR
28. The value oftan™1 (EJHE"T 1[5) is

T
A)-2'

B} %
b)%

D) 0

29. The general solution of
4sinx sin2x sindx = sin3x is

nm =«
X=i—4 2-
A) 3 9

n =«
Xe——
B) 3 9

C) X:n—;-':}:g,nez

nm =«
X=—=+— ne
D) 3 g N

2n

27.

28.

29,

Page No. 12

T A N

2
sin~'x + sin~12x = -gn % forg x Y
geTesy |

1 =
A) 3 B -

1
C) -

5 D) 2

tan™" [-;-J + tan_T%‘] 1 €T @

7
A)E

B) %
C) %,

D)o

4sinx sin2x sindx = sin3x 7 AT

ey 8

nmt =«
As—+—
A) 3 9

ne =
X ———
B) 3 9

nm =
x:_:t_'nez
C) 39

nec =
X:_:t_, ne
D) 3 '3 N

5CEM




The general solution of 30. nezZ¥ Rt cos 20= JE (cos0 - sine)
cos20 =.fo 0-sing)forneZis
V2 (cos8—sin ) o 3 2

T
A) X=2nn+—
) 2 A) x=2n1t+~;-

: T
B) x=2nzg+=
) 4 B) x=2m:+%:-

T
) 4 4 C) x=nn+-:-:|:%

D) None ofithese

D) 3 & ®¥ T8

The eccentricity of an ellipse, with

31, TP forg W weaferg e whiw &
wRRRR 1) ¥ aw T w Rde
X =42, 7 R = we S 2

its centre at origin iis yz If one of
the directrices is x = 4, the equation

of the ellipse is

2 .2
2= \-o Xo= WY,
X<y A) —+—=1
A) —+—=1
..) 5y ] 3 4
2 .2
xe g2 LI
B) = Yo bt vl
: 24780
C) §_2.+X.2____1 C) i—+y—=1 3
g 18 2 16
21 =p 210
e Y Rge L Y,
—+—=1 D) —+—=1
D) 18 9 ) 16 9

SCEM



32.

33.

34.

The equation of the hyperbolain the
standard form if the length of latus

rectum is 143 ande = % is

2 2

x2_y
—_—_=1
A 7 9
2 2
B) = -¥L -1
3 7

o) x+2)% (y+2)* _
49 81

1

D) None of these

The equation of the tangent and
normal to the hyperbola x2 - 3y2 = 4
at(—-4,-2)is

A) 2x-3y=-2,3x+2y+16=0
B) 2x+3y=-2,3x-2y =16
C) 2x+3y=2,3x+2y=-16
D) —2x+3y=2,3x-2y=16

If the line 2x + /gy = 2 touches the

hyperbola xZ — 2y2 = 4, the point of
contact is

A) (4,8)

B) (4,-6)
C) (—4,6)
D) (- 4,~8)

Page No. 14

32.

33.

34.

TR T EOA A

wmﬁmtmnﬁémiﬂédﬁ

e= 5/ 2, @ wved Bl § duwivem 3
Gl Ere €

A) ¥ _q
7 o
2 2
B) X _¥ 4
3 7

x+22 (y+2)2 1
49 81

D) ¥H & %l T

C)

(—4, - 2) Weg@E™T x2-3y2 = 4 &
TFive T A 1 ETeR g &

A) 2x-3y=-2,3x+2y+16=0
B) 2x+3y=-2,3x-2y=16
C) 2x+3y=2,3x+2y=-16
D) —2x+3y=2,3x-2y=16

IR WM 2x + Jgy = 2 BUIn

X2 - 2y2 = 4 9 G Tl ] T FireTe
1 91 Eran &

A) (4, J6)

B) (4, /6)

C) (-4, 6)

D) (-4, -6)
5CEM
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A

35.

36.

37.

: i —1f =1
| Leosi =2,

The value of 'sin ( > ( 2 D is
A) 1

1
B) E’
c) 38

2
D) 0
The radical axis of two circles is

to the line of centres.

A) Perpendicular
B) Parallel
C) Intersect at (X4, ¥3)

D). None of these

Acircle has its centre on Yy =X, passes
through (0, 0) and cuts another circle
X2 +y2—4X+2y+4=0 orthogenally,
then its equation is

A) x2+y2_4x -4y =0

B) X2+ y2 4+ 4x+dy =0

C) X2 +y2—4x+4dy=0

D) x2+y2+4x—dy =0

({(Page No. 15

35.

36.

37.

sin (;cos [ﬂ) w1 g7 &
A) 1

B)

[\

C)—‘gg

D) 0

aaéﬁa(qa)aﬁﬁzaﬁ@a Sleof
AR dmd

A) TETERER
B) Yo

- C) (xy, yp) ¥ T

D) ¥4 @ %Y =

U 1 1 A Sy = x W E,(0, 0)
& B0 o @ i g g

X2 +y2— 4x+ 2y + 4'= 0 B TR
TN ], T TUHT AHFT B B

A) X2 +y2—ax-—4y=0
B) x2+y2 4 4x+4y=0
C) x2+y2_4x+4y=0

D) x2+y2 £ 4x~4y =0
5CEM




38. The eccentricity of the hyperbola

39.

40.

36x2 — 25y2 = 900 is

61
A) 5

D)

o

The foci of the hypérbola
9y2 — 4x2= 36 is

A) (0.413)
B) (0,-A3)
C) (0. Vi3)

D) None of these

The directrix of the parabola
9x2 —6x + 36y + 19=01s

A)y:/,2

38.

39.

40.

Page No. 16

A O

BT 36x2 — 25y2 = 900
R 2

e1
A) =

BT 9y2 — 4x2 = 36 FTFR 2
A) (0+43)

B) (0.~ i3)

C) (0. +43)

D) T AR 7

I 9x2 — 6 + 36y + 19 = 0

R 2
N y=J,
B) yz_%

C)y=2

D) y=-2
5CEM




41,

42.

. 2 3 J
A)'[124

I

'l’f‘-ﬁ:,-!Ff £:9 4) and
(38 2 4 1

8=la 3 2 1

(1 2 8 4
-=( Je S,- Then fog is

W

=

2 3

£

B)

i

1 2 3 4
14 2 3

L aes
4824 -

In‘the: group of non-zero reals

2 3

E=1Yy
LY

)

o
a *b;;:%—' and 2+ (x 5)=10 then
X is

A) 25 B) 1

C) =25 D) -1

Ina group G, the equations ax = b
andya = b have unique solution,

A) True
B) False
C), Depends on a and b

D) Gannot be determined

PageNo. 17

42,

o
—ry
W N = N N N N N
N N @ ) W o]
[ T -

A~ ey wg &
a*b=-a5£3ﬂtzu-(x-o- 5)= 108, ae x
Trar &

A) 25 B) 1

C) -25 D) -1

G ®E ¥ ax = b a1 ya = b T
Hfgdia @em € |

A) T

B) 7eta

C) a 3ittb wfnkd

D) fFuif@ &
5CEM



44.

45,

46.

The direction cosines of 3?__ 4 ,j\+ 5 f(\
are

-3 4 1

Azl

8 -4 1
B) 5J2°'5\2" J2

3 4 1

©) 52572 Tz

-8 -4 _1

D) 5252 T2

The length of the tangent from
(=3, 1) to the circle 3x2 + 3y2 — 5x
-6y—-12=0is

A) 1 B) 2

C) 3 D) 4
1 a a2

Thevalueof i b b2 s
c c¢2

A) (a~b)(b-c)(c-a)
B) (a+b)(b+c)(c+a)
C) (@a+b) (b~c)(c-a)
D) (a-b)(b+c)(c+a)

44,

45,

46.

@D

(RH LA

N A A
8i-4j+5k 1 S Frasg

-3
5

A)

R
%-ﬁ
RTI"“

|
=

e
|

5
5
o=

B)

o
A

=
S
o=

!
()

-4 -1

) 572’53z Tz

(=3, 1) & iz i o 3x2 + 3y2 —5x
-6y—12=0gaaw

A) 1 B) 2
C)3 - D) 4
a a2
b b2 wgwe
¢ c?

A) (a-b) (b-c)(c-a)
B) (@+b)(b+c)(c+a)
C) (a+b)(b-c) (c—a)
D) (a~b)(b+c)(c+a)

SCEM
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7.

2X+7 X+4 X+8

If|x+4 2x+6 x+2|=0,thenxis
X+3 X+2 2x+5

A) -2 B) -3

C) -4 D) —2,-3,—4

The value of

T T X

o x o

X o .0
7}

A) (x+p) (x+0) (x+p +aq)
B) x-p)}{(x—q)(x+p+q)
C) (x~p) (x~q) (x—p-a)
D) (x+p) (x+q) (x~p-q)

142003
Findxif |2 x 83|is singular.
L X J

A) 11/12

B) -11/12

C)o

D) None of these

IfA=[3 1] then A2+ 7l is
-1 2

A) 4A B) 5A
C) 6A

D) —5A _

47.

48.

49,

50.

D) (x+p)(x+q)(x—p-q)

2X+7 X+4 X-+3

AN (X+4 2X+6 X+2|=0, 99 x
X+38 X+2 2x+5

BT

A) -2 " B) -3

C)-4 D) -2,-3,-4

X pq

P X q|siqemdme

P q X

A) (x+p)(x+q)(x+p+q)
B) (x-p) (x-q)(x+p+q)

-’H-..t-:phr.f"

C) (x-p)(x-q) (x~p-q)

—
g

12 83

am[z x o|faere, Axwme 2
3 x 3

A) 1112

B) -11/12

C)o

D) T & =¥ e

amA:[e L

]%,aaA?nraaT%
-1 2

A) 4A
C) 6A

8) 5A
D) —5A

5CEM





